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EFETHETRAOR
FRERERAOGIEAZEHZED) %*DZEEZH 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 299 367 401 768
AER1TH 1,044 1,193 1,307 2,500
EARI2TH 1,222 1,107 1,441 2,548
A R ET 2,261 2,336 2,572 4,908
BEBRT1TH 522 537 588 1,125
B ERT2TH 411 427 473 900
B ERI3TH 310 348 338 686
BEBRT4TH 533 498 537 1,035
B ERSTH 845 932 942 1,874
I ER6TH 361 395 416 811
HiF = HT 542 626 654 1,280
45 KHT 452 527 549 1,076
HHT 1,005 1,140 1,271 2,411
BEHT 59 59 66 125
A K BT 628 736 744 1,480
7 HT 432 449 457 906
RICET 480 517 554 1,071
FORHET 198 207 225 432
RFHT 216 223 255 478
KHET 370 349 398 747
KET1TH 227 252 283 535
XKET3TH 289 340 325 665
XETATH 886 830 1,057 1,887
fit] LLI BT 2,331 2,768 2,869 5,637
JE LT 969 1,114 1,231 2,345
EHERT2TH 300 444 440 884
EHERISTH 428 542 549 1,091
EHERT4TH 358 431 471 902
EHERSTH 336 393 465 858
EHERT6TH 208 275 263 538
EHERT7TH 163 244 247 491
=Y:i 328 352 397 749
8 [F T 1,597 1,499 1,746 3,245
=i ET 505 541 626 1,167
2l 3t BT 476 621 578 1,199
N =15 96 116 123 239
+HEFRT A 650 662 722 1,384
L EFHTER 863 759 873 1,632
L HAET 2,119 2,365 2476 4,841
LFH¥ABT1TH 73 123 121 244
LE¥ET2T B 154 160 177 337




BT 4 HH 5 £ i
LFEI3TH 149 149 174 323
L¥AET4 T B 156 166 200 366
LFEISTH 210 271 292 563
I == HT 213 219 252 471
JOSFET1TH 550 536 567 1,103
Mn=rET2TH 553 549 568 1,117
JO=fET3TH 419 434 408 842
M=rET4T H 1,104 1,129 1,162 2,291
I S5k T 582 603 668 1,271
I=F5di) 235 223 269 492
Jt B BT 30 39 40 79
Jt ET 425 382 382 764
478 = HT 790 922 973 1,895
FHRHET 77 90 98 188
1 2 FF T 372 431 468 899
BEFE1TH 84 106 112 218
BEFE2TH 282 334 342 676
T EHT 130 150 150 300
/A BB T 3,072 3,179 3,392 6,571
1R HT 262 297 303 600
YEZF HT 743 754 802 1,556
EXBI1TH 274 247 292 539
=/ LLIHT 233 172 133 305
Hh ek HT 28 28 6 34
T A EHET 10 12 10 22
TAHHEB1TH 710 682 744 1,426
THHEET2TH 533 580 571 1,151
THMHEB3TH 756 763 885 1,648
TEHE1TH 194 195 189 384
TEHRI2TH 807 771 885 1,656
T¥HEI3TH 170 174 182 356
TEHRI4ATH 82 81 89 170
TEEI5TH 236 246 265 511
T HAET 662 702 744 1,446
THABRT1TH 353 361 366 727
THAERT2TH 450 450 474 924
TH¥BISTH 199 199 238 437
TH¥ABRT4TH 155 153 183 336
HTAEHET 25 24 9 33
T 192 192 197 389
#8)11 BT 44 47 55 102
AT HT 305 325 354 679

e K HT 1,686 1,755 1,901 3,656

27588



HEZ HH 5 £ i
FSIED 264 323 322 645
XLAT1TH 860 840 981 1,821
XLAT2T B 307 342 357 699
X#ILET3TH 148 160 168 328
1 [ BT 49 66 80 146
hHET1TH 360 386 416 802
hHET2TH 453 486 535 1,021
hHBEI3TH 433 515 529 1,044
niEld:) 252 245 284 529
th 2 JEHT 234 221 260 481
ch T 129 134 167 301
FRAHT 749 876 882 1,758
At A ET 885 926 1,049 1,975
75 K ERET 780 983 1,019 2,002
75 2 [N HET 1,677 1,883 2,006 3,889
A 796 775 891 1,666
SFHEAT1TH 533 471 541 1,012
SFHEAT2TH 404 396 454 850
$FHEAI3TH 209 232 237 469
| BT 424 481 513 994
YHET1T B 371 473 490 963
HET3T B 352 397 433 830
RET4T B 118 113 142 255
J\ & T 988 1,097 1,147 2,244
J\HHT 169 219 221 440
+ A ERT 275 330 362 692
AR 2,235 2,322 2,453 4,775
THAR1TH 23 20 19 39
THAR2TH 1,460 1,396 1,393 2,789
TAR3TH 199 183 187 370
THR4TH 372 309 381 690
TARS5TH 952 707 971 1,678
T4HBI6TH 219 239 267 506
THRI7TH 354 395 435 830
T4HBISTH 387 424 432 856
THBIOTH 387 459 514 973
T4B13TH 302 355 388 743
AR NBHT 1,952 1,732 1,996 3,728
HARRHET 1,351 1,267 1,272 2,539
HEARK/ERET 285 377 397 774
HEARICEHT 162 173 183 356
ZFARKEHET 133 124 137 261
Z AR hHET 200 230 261 491

3./5%%



HEZ HH 5 = 5
FHARAKHET 437 465 498 963
H AR EHT 322 353 389 742
EHARE)IIET 285 276 303 579
e N=TN ] 111 123 137 260
FH AR JTHT 99 94 113 207
EARERHE 666 580 663 1,243
B K BRHET 390 409 409 818
Edsa] 891 916 1,032 1,948
BEFET1TH 763 753 767 1,520
BEFET2 T H 592 605 687 1,292
BRFEIST H 349 418 416 834
AIFTET1T B 420 378 434 812
AIFFAT2T B 590 605 668 1,273
AIFTET3T B 599 707 745 1,452
A HT 188 214 202 416
H_LH 212 276 297 573
NEL] 814 817 885 1,702
ERL 714 901 913 1,814
= HHE 1,736 1,976 2,066 4,042
HEXHRET1TH 564 645 668 1,313
HETIRET2TH 521 620 655 1,275
HLAREISTH 296 377 374 751
P fx T 322 383 409 792
mLERI1TH 1,163 1,131 1,301 2,432
mERI2TH 836 958 1,077 2,035
FA T 1,331 1,392 1,587 2,979
= RITET 524 513 558 1,071
= AHT 350 285 353 638
AR#HT 10 9 4 13
=) 497 577 527 1,104
SHA1TH 705 647 802 1,449
S HHET2TH 392 434 457 891
aHEI3TH 855 766 934 1,700
S HET4TH 779 666 883 1,549
E& T 1 1 0 1
J\BRET1TH 212 274 270 544
J\BRET2T B 219 235 232 467
J\BRET3T H 238 294 300 594
1T HT 292 436 426 862
FHEIBRT1 TH 138 163 173 336
FHaEIRT2TH 296 427 456 883
FIaTET3T B 11 25 15 40
ENOER1TH 0 0 0 0
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HEZ HH 5 £ it
FEOER2TH 0 0 0 0
EOER3TH 20 19 1 20

HWEEt 88,030 | 93,151 | 100,879 | 194,030
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